EXERCISES 7-4

o,

1. Simplify.
a) (6n)(5n) b) (—2a)(3a) c) (—35x) dy (G3m)(—6n)
e) (=5)(—2%) 1) (3a)(2q) g) (5x9(2x) h) By(—7»

10.

14.

. 1 1
i) (—0(=5% ) |zn]|n

i) #(3n* — 5Sn+ 1)
K) a®(3a® — 22 + 1)

. Expand.

a) Sx(2x + 3)

¢) 35 — 2¢)

e} =Ty - 5)

g 2x(3x — 5)

i) 5535 — 25 — 7)

k) —74°Ga? — 2a — 4

"

. Expand.

a) 3%y — )

c) 4m(mn — n?)

e) Sa¥b* — a)

g) —2m*n(mn — 3n%)
i) —3pgr(2pq — 4qr)

. Expand.

a) 3x(x’ + yx + xy)
¢) —3m(mn — m*n — m)
e) 20°%(y — 2% + 3xy)

k) 2.5m¥1.2m>) 1D (0.5x33x?)

27 /\4

. Simplify.

a) (12x)? b) (= 10a)(17a%) ¢) (—25n2)(8n%)

d) (=35c3)(—4¢?) e) (17x3)(5x) )y (—28m)(5#%)

g) (Gx)(5x)(2x) h) (—4m(—2n)(—3n) 1) (3ay .
D (=2 k) (—2x3)6x%)( — 3x) D (—10m)(— 8m)(—5m?)
. Simplify.

S) (IJ)-:vg(xzy) b) (m*n®)(mn) c) (@’ ab?)

d) (d)cd?) e) (pg)(P*g?) ) Gy .

2) (2xy)(3xy) h) (= 3x%y)4y%x) i) (—Sazb2)(—2ab)

J) (2ab’c)(5a*bc?) k) (4m*np)(—3mp?) 1) (=2¢yz2)(—5xy%)

. Expand.

a) x(3x + 2) by a(Sa — 1)

¢) n(3 — Tn) dy —x(x — 2)

e) —c(3c + 3) f) ¥*Cx — D

g ¥y — 3) hy r3(2 — 7%

B =X — x)
D —s(7 — 2s + 5%

b) 2a(3a — 4)

d) —4n(2n — 1)

f) 6k(3 — k + 2k

h) —4a*3a® — 2a)

i) 32 —-3p - p)

D —1.5x%4 — 1.5x — 12x%)

b) —2a*(ab® — b)

d) —3ppg* — pq)

f) —doy(® — )

h) Tab(2a’b — 3ab®

1 0.25mr*(Smn— 10m?)

b) —2a(ah’® — b + a’h)
d) 4w(—3zw + wlz — wz?)

f) —6xyz(—3xz2 + 20? — yz22 + 2xyz2)

A field is x metres wide and (2x + 3) metres long.
a) Write expressions for the area and the perimeter of the field.
b) Find the area and the perimeter if x = 250.

The dimensions, in centimetres, of a

cereal box are (5x — 1) by 3x by x.
a) Find an expression for;

i) the volume V of the box

ii) the surface area § of the box.
b) Find the volume and the surface

area when x = 7.

Formulas
V = LWH
SA=2LW + 2WH + 2LH
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